Program # 49 Effective Date: July 5, 2021 – July 3, 2022 Ships From: Zeeland, MI Annual Volume Pricing Available at 10,000+ cuttings view online at germaniaseed.com/plantcat

Plant Source International – Unrooted Cuttings (URC)

Vegetatively Produced Annuals, Herbs & Vinca Vine

Freight and import charges are included in the plant cost so you know exactly how much your order will be from the start
The Grower's Choice for high quality spring vegetative, herb and specialty geranium cuttings

ltem#	Tag Rule	e Variety	Tray Description	Tray Count	Price Each	Price Tray
97-65310-URCO	Т3		UNROOTED CUTTINGS	100	0.139	\$13.90
97-88340-URCO	T2		UNROOTED CUTTINGS	100	0.262	\$26.20
97-88341-URCO		AGERATUM BUMBLE ROSE (Patented)	UNROOTED CUTTINGS	100	0.262	\$26.20
97-88342-URCO		AGERATUM BUMBLE SILVER (Patented)	UNROOTED CUTTINGS	100	0.262	\$26.20
97-88344-URCO		ALTERNANTHERA CHOCO CHILI (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-84777-URCO		ANGELONIA ANGELOS BICOLOR (Blue and White) (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-84778-URCO		ANGELONIA ANGELOS BLOEION (Blue and Winte) (Futented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-63743-URCO		ANGELONIA ANGELOS BLUE (I dienied) ANGELONIA ANGELOS BLUE AND WHITE (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-84779-URCO		ANGELONIA ANGELOS DEGLAND WITTE (Tutented) ANGELONIA ANGELOS PINK (LAVENDER PINK) (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-84783-URCO		ANGELONIA ANGELOS VINIK (LAVENDER TINK) (Tatentea)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-94553-URCO *		ANGELONIA ANGELOS WITTE (Tutented) ANGELONIA SERAFINA BICOLOR (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-94554-URCO *		ANGELONIA SERAFINA BLUE (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-94555-URCO *		ANGELONIA SERAFINA BLOE (Patented)		100	0.255	\$25.50
97-94556-URCO *		ANGELONIA SERAFINA RASPBERRY (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-94557-URCO *		ANGELONIA SERAFINA RASEBERRI (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-94558-URCO *		· · ·	UNROOTED CUTTINGS			\$25.50
		ANGELONIA SERAFINA VIOLET (Patented) ANGELONIA SERAFINA WHITE (Patented)	UNROOTED CUTTINGS	100	0.255	
97-94559-URCO *			UNROOTED CUTTINGS	100	0.255	\$25.50
97-72691-URCO		ARGYRANTHEMUM BEAUTY YELLOW (Patented)	UNROOTED CUTTINGS	100	0.319	\$31.90
97-64268-URCO			UNROOTED CUTTINGS	100	0.258	\$25.80
97-40861-URCO		ARGYRANTHEMUM GRANDAISY (GRANDESSA) DARK PINK (Patented)	UNROOTED CUTTINGS	100	0.460	\$46.00
97-88199-URCO		ARGYRANTHEMUM GRANDAISY (GRANDESSA) PINK HALO (Patented)	UNROOTED CUTTINGS	100	0.460	\$46.00
97-88200-URCO			UNROOTED CUTTINGS	100	0.460	\$46.00
97-88201-URCO		ARGYRANTHEMUM GRANDAISY (GRANDESSA) WHITE (Patented)	UNROOTED CUTTINGS	100	0.460	\$46.00
97-88202-URCO		ARGYRANTHEMUM GRANDAISY (GRANDESSA) YELLOW (Patented)	UNROOTED CUTTINGS	100	0.460	\$46.00
97-82430-URCO		ARGYRANTHEMUM HONEYBEE WHITE BUTTERFLY (Patented)	UNROOTED CUTTINGS	100	0.325	\$32.50
97-40862-URCO		ARTEMISIA SEA SALT (Patented)	UNROOTED CUTTINGS	100	0.285	\$28.50
97-30062-URCO	T3		UNROOTED CUTTINGS	100	0.199	\$19.90
97-86016-URCO	T2		UNROOTED CUTTINGS	100	0.159	\$15.90
97-86015-URCO *	T2		UNROOTED CUTTINGS	100	0.159	\$15.90
97-86017-URCO		BACOPA EPIC WHITE (Patented)	UNROOTED CUTTINGS	100	0.159	\$15.90
97-82458-URCO	T2		UNROOTED CUTTINGS	100	0.166	\$16.60
97-65748-URCO	T2		UNROOTED CUTTINGS	100	0.166	\$16.60
97-78691-URCO	T2		UNROOTED CUTTINGS	100	0.166	\$16.60
97-88203-URCO	T2		UNROOTED CUTTINGS	100	0.166	\$16.60
97-70547-URCO	Т2		UNROOTED CUTTINGS	100	0.166	\$16.60
97-62851-URCO	T2		UNROOTED CUTTINGS	100	0.356	\$35.60
97-88643-URCO		BIDENS BEEDANCE YELLOW (Patented)	UNROOTED CUTTINGS	100	0.356	\$35.60
97-58464-URCO	T2		UNROOTED CUTTINGS	100	0.250	\$25.00
97-78793-URCO	T2		UNROOTED CUTTINGS	100	0.250	\$25.00
97-88211-URCO	T2		UNROOTED CUTTINGS	100	0.273	\$27.30
97-42348-URCO	T2	BIDENS GIANT SUN FRANCISCO (Patented)	UNROOTED CUTTINGS	100	0.236	\$23.60
97-56267-URCO	T2	BIDENS GIANT SUN LOUIS (Patented)	UNROOTED CUTTINGS	100	0.236	\$23.60
97-88212-URCO	T2	BIDENS PRETTY IN PINK (Patented)	UNROOTED CUTTINGS	100	0.268	\$26.80
97-94560-URCO *	T2	BIDENS STELLAR ORANGE RING (Patented)	UNROOTED CUTTINGS	100	0.236	\$23.60
97-94561-URCO *	T2	BIDENS STELLAR ORANGE STAR (Patented)	UNROOTED CUTTINGS	100	0.236	\$23.60
97-94562-URCO *	T2		UNROOTED CUTTINGS	100	0.236	\$23.60
97-88345-URCO	T2	BIDENS WHITE DELIGHT (Patented)	UNROOTED CUTTINGS	100	0.268	\$26.80
97-76957-URCO	T2	BIDENS YELLOW CHARM (Patented)	UNROOTED CUTTINGS	100	0.259	\$25.90
97-78211-URCO	T2	BRACHYSCOME BRASCO VIOLET (Patented)	UNROOTED CUTTINGS	100	0.155	\$15.50
97-88346-URCO	T2	BRACHYSCOME FRESCO CANDY (Patented)	UNROOTED CUTTINGS	100	0.200	\$20.00
97-86020-URCO	T2	BRACTEANTHA COTTAGE BRONZE (STRAWFLOWER) (Patented)	UNROOTED CUTTINGS	100	0.332	\$33.20
97-75884-URCO	T2	BRACTEANTHA COTTAGE ICE (STRAWFLOWER) (Patented)	UNROOTED CUTTINGS	100	0.332	\$33.20

Germania Seed Company

ltem#	Tag Rule	Variety () Annual Volume Pricing Available at 10,000+ cuttings	Tray Description	Tray Count	Price Each	Price Tray
97-78380-URCO		BRACTEANTHA COTTAGE LEMON (STRAWFLOWER) (Patented)	UNROOTED CUTTINGS	100	0.332	\$33.20
97-94563-URCO *	T2	BRACTEANTHA COTTAGE ORANGE (STRAWFLOWER) (Patented)	UNROOTED CUTTINGS	100	0.332	\$33.20
97–78379-URCO	T2	BRACTEANTHA COTTAGE PINK (STRAWFLOWER) (Patented)	UNROOTED CUTTINGS	100	0.332	\$33.20
97-86021-URCO	T2	BRACTEANTHA COTTAGE ROSE (STRAWFLOWER) (Patented)	UNROOTED CUTTINGS	100	0.332	\$33.20
97-86023-URCO	T2	BRACTEANTHA COTTAGE YELLOW (STRAWFLOWER) (Patented)	UNROOTED CUTTINGS	100	0.332	\$33.20
97-92192-URCO *	T2	BRACTEANTHA GRANVIA GOLD (Patented)	UNROOTED CUTTINGS	100	0.446	\$44.60
97-64384-URCO	Т3	BRACTEANTHA YELLOW (STRAWFLOWER)	UNROOTED CUTTINGS	100	0.260	\$26.00
97-73152-URCO	Т3	BRIDAL VEIL (TAHITIAN) WHITE (White Flowers/Semi-trailing)	UNROOTED CUTTINGS	100	0.105	\$10.50
97-40863-URCO	Т2	CALIBRACHOA CALITASTIC BALLERINA (Pink) (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-92004-URCO	Т2	CALIBRACHOA CALITASTIC BLOOD ORANGE (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-94566-URCO *	T2	CALIBRACHOA CALITASTIC BORDEAUX STAR (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-94567-URCO *	Т2	CALIBRACHOA CALITASTIC BUTTER (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-94568-URCO *	T2	CALIBRACHOA CALITASTIC DARK RED (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-71725-URCO	Т2	CALIBRACHOA CALITASTIC GOLD (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-71727-URCO	Т2	CALIBRACHOA CALITASTIC INDIGO (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-71728-URCO	T2	CALIBRACHOA CALITASTIC MANGO (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-40864-URCO	T2	CALIBRACHOA CALITASTIC MAROONED (Maroon w/Yellow) (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-94569-URCO *	T2	CALIBRACHOA CALITASTIC NOBLE BLUE (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-89954-URCO	T2	CALIBRACHOA CALITASTIC ORANGE (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-88349-URCO	T2	CALIBRACHOA CALITASTIC PAPAYA (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-71729-URCO	T2	CALIBRACHOA CALITASTIC PLUMBERRY POP (PUNCH) (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-71730-URCO	T2	CALIBRACHOA CALITASTIC PUMPKIN SPICE (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-92006-URCO	T2	CALIBRACHOA CALITASTIC RASPBERRY (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80
97–71731-URCO 97–71733-URCO	T2 T2	CALIBRACHOA CALITASTIC RED LIPS (Patented) CALIBRACHOA CALITASTIC WHITE (Patented)	UNROOTED CUTTINGS	100	0.258	\$25.80 \$25.80
97-94570-URCO *	T2	CALIBRACHOA CANDY SHOP BAG OF TRIX (Patented)	UNROOTED CUTTINGS	100	0.258	\$23.80
97-94571-URCO *	T2	CALIBRACHOA CANDY SHOP BAG OF TRIX (Patented)	UNROOTED CUTTINGS	100 100	0.272	\$27.20
97-56344-URCO	T2	CALIBRACHOA CANDY SHOP CANDY BOUQUET (Patented)	UNROOTED CUTTINGS	100	0.272	\$27.20
97-88351-URCO	T2	CALIBRACHOA CANDY SHOP CANDY BOOQOET (utented)	UNROOTED CUTTINGS	100	0.272	\$27.20
97-41255-URCO	T2	CALIBRACHOA CANDY SHOP CHOCOLATE (Patented)	UNROOTED CUTTINGS	100	0.272	\$27.20
97-88352-URCO	T2	CALIBRACHOA CANDY SHOP FANCY BERRY (Patented)	UNROOTED CUTTINGS	100	0.272	\$27.20
97-89955-URCO	T2	CALIBRACHOA CANDY SHOP GRAPE SPLASH (Patented)	UNROOTED CUTTINGS	100	0.272	\$27.20
97-94572-URCO *	T2	CALIBRACHOA CANDY SHOP MILKY PINK (Patented)	UNROOTED CUTTINGS	100	0.272	\$27.20
97-88215-URCO	T2	CALIBRACHOA CANDY SHOP SWEET DREAMS (SWEET TART) (Patented)	UNROOTED CUTTINGS	100	0.272	\$27.20
97-89956-URCO	T2	CALIBRACHOA CHAMELEON ATOMIC ORANGE (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-94573-URCO *	T2	CALIBRACHOA CHAMELEON AVANT-GARDEN (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-91866-URCO	Т2	CALIBRACHOA CHAMELEON BLACKBERRY PIE (Deep Purple/Yellow Streaks) (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-56623-URCO	Т2	CALIBRACHOA CHAMELEON BLUEBERRY SCONE (Blue and Yellow) (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-90394-URCO	Т2	CALIBRACHOA CHAMELEON FASHIONISTA (Dark Purple, Yellow) (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-91867-URCO	Т2	CALIBRACHOA CHAMELEON FROZEN ICE (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-88216-URCO	Т2	CALIBRACHOA CHAMELEON INDIAN SUMMER (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-62856-URCO	T2	CALIBRACHOA CHAMELEON LAVENDER SORBET (Lavender and White) (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-88396-URCO	Т2	CALIBRACHOA CHAMELEON LEMON BERRY (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-62861-URCO	Т2	CALIBRACHOA CHAMELEON SUNSHINE BERRY (Coral, Rose, Yellow) (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-40866-URCO	T2	CALIBRACHOA CHAMELEON TART DECO (Pink and Yellow) (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-91869-URCO	T2	CALIBRACHOA FIREWALKER (Red w/ Orange Streaks) (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-90229-URCO		CALIBRACHOA SKYWALKER (Patented)	UNROOTED CUTTINGS	100	0.293	\$29.30
97-94574-URCO *	T2		UNROOTED CUTTINGS	100	0.265	\$26.50
97-59841-URCO	T3	CHLOROPHYTUM (SPIDER PLANT) GREEN EDGE (VARIEGATED)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-59840-URCO	T3	CHLOROPHYTUM (SPIDER PLANT) WHITE EDGE (REVERSE)	UNROOTED CUTTINGS	100	0.258	\$25.80
97-82589-URCO		CLEOME CLIO MAGENTA (Patented)	UNROOTED CUTTINGS	100	0.386	\$38.60
97-88224-URCO		CLEOME CLIO PINK LADY (Patented)	UNROOTED CUTTINGS	100	0.386	\$38.60
97-58694-URCO	T3 T3	COLEUS ALABAMA SUNSET	UNROOTED CUTTINGS	100	0.188	\$18.80 \$18.80
97-58695-URCO 97-74126-URCO	T3	COLEUS BURGUNDY SUN (Burgundy Red) COLEUS CHAOTIC ROSE (Fuchsia w/Yellow/Green Edge)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-86721-URCO		COLEUS COLOR CLOUDS TRAILING HONEYBEAR (Patented)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100 100	0.188	\$31.60
97-86722-URCO	T1	COLEUS COLOR CLOUDS TRAILING HONLI DEAK (Faterited)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-71488-URCO		COLEUS COLOR CLOUDS TRAILING HOT HE (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-72140-URCO	T3	COLEUS DARK STAR (Deep Purple Compact)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-69570-URCO	T3	COLEUS DERIANCE (Bright Red w/Golden Edge)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-79974-URCO	T3	COLEUS DIPT IN WINE	UNROOTED CUTTINGS	100	0.188	\$18.80
97-89960-URCO	T1	COLEUS FANCY FEATHERS BLACK (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-70385-URCO	T1	COLEUS FANCY FEATHERS COPPER (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-89961-URCO	T1	COLEUS FANCY FEATHERS PINK (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-73792-URCO	Т3	COLEUS FINGER PAINT (Green w/Splash Red/Yellow)	UNROOTED CUTTINGS	100	0.188	\$18.80

ltem#	Tag Rule Variety Annual Volume Pricing Available at 10,000+ cuttings	Tray Description	Tray Count	Price Each	Price Tray
97-71515-URCO	T3 COLEUS FISHNET STOCKINGS (Green w/Deep Purple Vein)	UNROOTED CUTTINGS	100	0.188	\$18.80
97–74076-URCO	T3 COLEUS FLAMINGO (Pink/Magenta Purple Edge)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-58731-URCO	T3 COLEUS GAYS DELIGHT (Lime Green w/Burgundy Vein)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-71516-URCO	T3 COLEUS GLENNIS (Pale Green w/Pink and Red)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-66387-URCO	T1 COLEUS GLOBETROTTERS GAGA (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-71486-URCO	T1 COLEUS HIPSTERS LUCA (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-72700-URCO	T3 COLEUS JUPITER (Ruffled Dark Rose w/Orange)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-65443-URCO	T3 COLEUS KINGSWOOD TORCH (Magenta w/Burgundy Highlight)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-74604-URCO	T3 COLEUS KIWI FERN (Ruffled Burgundy w/Green)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-75459-URCO	T3 COLEUS MARIPOSA (Dark Purple To Light/Pink)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-58711-URCO	T3 COLEUS OX BLOOD (Dark Burgundy)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-66643-URCO	T3 COLEUS PETER'S WONDER (Green/White w/Rose Pink)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-72702-URCO	T3 COLEUS PINEAPPLE BEAUTY (Golden Yellow w/Brownish/Red)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-75460-URCO	T3 COLEUS PINEAPPLETTE (Gold w/Burgundy Accent)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-71522-URCO	T3 COLEUS PISTACHIO NIGHTMARE (Magenta/Purple w/Green Edge)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-70494-URCO	T3 COLEUS RUSTIC ORANGE (Burnt Orange w/Yellow Edge)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-58693-URCO	T3 COLEUS SATURN (Maroon w/Lime/Gold Center)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-58718-URCO	T3 COLEUS SOLAR ECLIPSE (Bronze Center w/Purple)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-58719-URCO	T3 COLEUS SOLAR FLAIR (Green Center w/Yellow Fringe)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-58723-URCO	T3 COLEUS SOLAR RED (Red w/Thin Green Edge)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-58724-URCO	T3 COLEUS SOLAR SHADE (Bright Yellow Foliage)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-58728-URCO	T3 COLEUS SOLAR SUNRISE (Bronze/Yellow w/Red Tips)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-67581-URCO	T1 COLEUS TERRA NOVA BRIGHT SPARK (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-86640-URCO	T1 COLEUS TERRA NOVA ELECTRIC SLIDE (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-89963-URCO	T1 COLEUS TERRA NOVA LUMEN (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-86641-URCO	T1 COLEUS TERRA NOVA MARRAKESH (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-68061-URCO	T1 COLEUS TERRA NOVA PERIDOT (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-68062-URCO	T1 COLEUS TERRA NOVA PINK POODLE (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-86737-URCO	T1 COLEUS TERRA NOVA WILDFIRE BLAZE (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-86739-URCO	T1 COLEUS TERRA NOVA WILDFIRE IGNITION (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-86740-URCO	T1 COLEUS TERRA NOVA WILDFIRE SMOKY ROSE (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-86733-URCO	T1 COLEUS TIDBITS TAMMY (Patented)	UNROOTED CUTTINGS	100	0.316	\$31.60
97-75462-URCO	T3 COLEUS VIOLET TRICOLOR	UNROOTED CUTTINGS	100	0.188	\$18.80
97-61879-URCO	T3 COLEUS WILD LIME (Cream Center w/Green Edge)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-91964-URCO	T2 CUPHEA FUNNY FACE	UNROOTED CUTTINGS	100	0.212	\$21.20
97-58039-URCO	T3 CUPHEA HYSSOPIFOLIA ALLYSON PURPLE	UNROOTED CUTTINGS	100	0.130	\$13.00
97-40867-URCO	T2 CUPHEA HYSSOPIFOLIA FLORIGLORY CORAZON (Violet) (Patented)	UNROOTED CUTTINGS	100	0.212	\$21.20
97-88225-URCO	T2 CUPHEA HYSSOPIFOLIA FLORIGLORY DIANA (Pink) (Patented)	UNROOTED CUTTINGS	100	0.212	\$21.20
97-88226-URCO	T2 CUPHEA HYSSOPIFOLIA FLORIGLORY MARIA (White) (Patented)	UNROOTED CUTTINGS	100	0.212	
97-88356-URCO	T2 CUPHEA HYSSOPIFOLIA FLORIGLORY SELENA (Purple) (Patented)	UNROOTED CUTTINGS	100		\$21.20
97-88227-URCO	T2 CUPHEA HYSSOPIFOLIA FLORIGLORY SOFIA (Lavender) (Patented)	UNROOTED CUTTINGS	100	0.212	\$21.20
97-86241-URCO	T2 DIASCIA SUNDIASCIA PEACH (Patented)	UNROOTED CUTTINGS	100	0.395	\$39.50
97-84830-URCO	T2 DIASCIA SUNDIASCIA ROSE PINK (Patented)	UNROOTED CUTTINGS	100	0.395	\$39.50
97-75464-URCO	T3 DICHONDRA SILVER NICKEL VINE	UNROOTED CUTTINGS	100	0.095	\$9.50
97-40868-URCO	T2 DIDELTA SILVER STRAND (Patented)	UNROOTED CUTTINGS	100	0.239	\$23.90
97-80092-URCO	T3 DOROTHEANTHUS CANDY APPLE RED	UNROOTED CUTTINGS	100	0.246	\$24.60
97-67045-URCO 97-58045-URCO	T3 DOROTHEANTHUS VARIEGATED (TRAILING RED)	UNROOTED CUTTINGS	100	0.246	\$24.60
	T3 DURANTA ERECTA GOLD EDGE	UNROOTED CUTTINGS	100	0.206	\$20.60 \$25.80
97-66452-URCO 97-81220-URCO	T2 EUPHORBIA HYPERICIFOLIA STARBLAST SNOWDRIFT (Patented) T2 EUPHORBIA HYPERICIFOLIA STARBLAST SOFT PINK (Patented)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.258	\$25.80
97-81220-0RCO	T2 EUPHORBIA HYPERICIFOLIA STARBLAST WHITE (Patented)		100	0.258	\$25.80
	T3 EVOLVULUS GLOMERATUS BLUE DAZE (Blue Spreading)	UNROOTED CUTTINGS	100	0.258	\$13.60
97-53133-URCO 97-71950-URCO	T3 FUCHSIA SEMI TRAILING LAMBADA (Pink w/Orchid/Purple)	UNROOTED CUTTINGS	100	0.130	\$13.00
97-64371-URCO	T3 FUCHSIA TRAILING LAMBADA (FINK WORTHU/FUTPle)		100	0.179	\$17.90
97-33082-URCO	T3 FUCHSIA TRAILING BLUE EYES (Lavender Blue/Red Double)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.179	\$17.90
97-33083-URCO	T3 FUCHSIA TRAILING DARK EYES (Violet Blue/Deep Red Double)		100	0.179	\$17.90
97-33473-URCO	T3 FUCHSIA TRAILING DERP PURPLE (White w/Deep Purple)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.179	\$17.90
97-56551-URCO	T3 FUCHSIA TRAILING EL CAMINO (Red Pink)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-66647-URCO	T3 FUCHSIA TRAILING LA CAMPANELLA (White/Violet)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-33084-URCO	T3 FUCHSIA TRAILING LA CAMPANELLA (WINE/VIOLE)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-33084-0RCO	T3 FUCHSIA TRAILING MARINKA (Crimson Semidouble)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-80284-URCO	T3 FUCHSIA TRAILING NEW MILLENIUM (Pink/Dark Purple)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-33487-URCO	T3 FUCHSIA TRAILING PINK MARSHMALLOW (Very Pale Pink Double)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-33086-URCO	T3 FUCHSIA TRAILING SOUTHGATE (Rose-Veined Pale Pink Double)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-33088-URCO	T3 FUCHSIA TRAILING SWINGTIME (White/Pale Red Double)	UNROOTED CUTTINGS	100	0.179	\$17.90
					,

Germania Seed Company

ltem#	Tag Rule	Variety Annual Volume Pricing Available at 10,000+ cuttings	Tray Description	Tray Count	Price Each	Price Tray
97-33089-URCO	Т3	FUCHSIA TRAILING WHITE EYES (Red Vein/White Deep Red)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-89966-URCO	T2	FUCHSIA UPRIGHT ARBORESCENS BLUTINI (MEXICAN BLUEBERRY) (Patented)	UNROOTED CUTTINGS	100	0.422	\$42.20
97-56550-URCO	Т3	FUCHSIA UPRIGHT BELLA ROSELLA (White/Rose)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-33074-URCO	Т3	FUCHSIA UPRIGHT DOLLAR PRINCESS (Deep Purple/Cerise Double)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-65962-URCO	Т3	FUCHSIA UPRIGHT GARTENMEISTER (Salmon Orange Trumpet)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-80283-URCO	Т3	FUCHSIA UPRIGHT GILLIAN ALTHEA (Red/Purple)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-74081-URCO	T3	FUCHSIA UPRIGHT PATIO PRINCESS (Double White w/Reddish Pink)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-68732-URCO	T3	FUCHSIA UPRIGHT PAULA JANE (Rose/Cerise)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-33497-URCO	T3	FUCHSIA UPRIGHT VOODOO (Dark Purple/Dark Red Double)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-33506-URCO	T3	FUCHSIA UPRIGHT WINSTON CHURCHILL (Lavender Pink Double)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-85313-URCO 97-85314-URCO	T2 T2	GERANIUM REGAL ANGELEYES BLUEBERRY (Patented) GERANIUM REGAL ARISTO BLACK BEAUTY (Patented)	UNROOTED CUTTINGS	100 100	0.426	\$42.60 \$46.20
97-40870-URCO	T3	GERANIUM REGAL ARISTO BLACK VELVET (Deep Red)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.462	\$46.20
97-75475-URCO	-	GERANIUM REGAL ARISTO BURGUNDY (Burgundy Red) (Patented)	UNROOTED CUTTINGS	100	0.462	\$46.20
97-74537-URCO *		GERANIUM REGAL ARISTO LILAC (Lavender w/Eye) (Patented)	UNROOTED CUTTINGS	100	0.462	\$46.20
97-88360-URCO	T2	GERANIUM REGAL ARISTO ORANGE (Patented)	UNROOTED CUTTINGS	100	0.462	\$46.20
97-85315-URCO	T2	GERANIUM REGAL ARISTO ORCHID (Patented)	UNROOTED CUTTINGS	100	0.462	\$46.20
97-86030-URCO	T2	GERANIUM REGAL ARISTO PINK (Patented)	UNROOTED CUTTINGS	100	0.462	\$46.20
97-78807-URCO	T2	GERANIUM REGAL ARISTO PURPLE STRIPES (Patented)	UNROOTED CUTTINGS	100	0.462	\$46.20
97-85316-URCO	T2	GERANIUM REGAL ARISTO RED BEAUTY (Patented)	UNROOTED CUTTINGS	100	0.462	\$46.20
97-77278-URCO	Т2	GERANIUM REGAL ARISTO SALMON (Patented)	UNROOTED CUTTINGS	100	0.462	\$46.20
97-81693-URCO	Т2	GERANIUM REGAL ARISTO STRAWBERRY CREAM (Patented)	UNROOTED CUTTINGS	100	0.462	\$46.20
97-74540-URCO	Т2	GERANIUM REGAL ARISTO VELVET RED (Patented)	UNROOTED CUTTINGS	100	0.462	\$46.20
97-86031-URCO *	T2	GERANIUM REGAL ARISTO WHITE W/EYE (Patented)	UNROOTED CUTTINGS	100	0.462	\$46.20
97-81689-URCO	T2	GERANIUM REGAL CANDY FLOWERS BICOLOR (Patented)	UNROOTED CUTTINGS	100	0.468	\$46.80
97-81690-URCO	T2	GERANIUM REGAL CANDY FLOWERS BRIGHT RED (Patented)	UNROOTED CUTTINGS	100	0.468	\$46.80
97-59221-URCO	T2	GERANIUM REGAL CANDY FLOWERS PEACH CLOUD (Patented)	UNROOTED CUTTINGS	100	0.468	\$46.80
97-81694-URCO	T2	GERANIUM REGAL CANDY FLOWERS VIOLET (Patented)	UNROOTED CUTTINGS	100	0.468	\$46.80
97-94575-URCO *		GERANIUM REGAL ORANGE GLOW (Patented)	UNROOTED CUTTINGS	100	0.468	\$46.80
97-88362-URCO	T2	GERANIUM REGAL PINKERBELL (Lavender Pink w/Light Star) (Patented)	UNROOTED CUTTINGS	100	0.468	\$46.80
97-58173-URCO	T3	GERANIUM SCENTED ATTAR OF ROSES (Rose w/Rose Scent)	UNROOTED CUTTINGS	100	0.358	\$35.80
97-75478-URCO	T3	GERANIUM SCENTED CITRIODORUM (Rose w/Lemon Scent)	UNROOTED CUTTINGS	100	0.358	\$35.80
97-64440-URCO	T3	GERANIUM SCENTED CONCOLOR LACE (Red w/Sweet Nutty Scent)	UNROOTED CUTTINGS	100	0.358	\$35.80
97-64442-URCO 97-64441-URCO	T3 T3	GERANIUM SCENTED FRAGRANS (White, w/Apple/Nutmeg Scent) GERANIUM SCENTED LADY PLYMOUTH (Mauve w/Rose/Mint Scent)	UNROOTED CUTTINGS	100	0.358	\$35.80 \$35.80
97-78175-URCO	-	GERANIUM SCENTED LEMONA (Pink w/Lemon/Citrus Scent) (Patented)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.358	\$38.90
97-75479-URCO	T3	GERANIUM SCENTED CEMONA (FIRK W/LETION/Citrus Scent) (Patented) GERANIUM SCENTED ORANGE FIZZ (Dark Pink, w/Orange/Citrus)	UNROOTED CUTTINGS	100	0.358	\$35.80
97-40869-URCO	T3	GERANIUM SCENTED OKANGE 122 (Dark Fink, W) Grange/Citrus/ GERANIUM SCENTED QUERCIFOLIA (OAK LEAF) (Pine Scent)	UNROOTED CUTTINGS	100	0.358	\$35.80
97-74682-URCO	T3	GERANIUM SCENTED SWEET MIMOSA (Rose w/Rose Lemon Scent)	UNROOTED CUTTINGS	100	0.358	\$35.80
97-30740-URCO		GLECHOMA HEDERACEA HEDERACEA (Varieg. Ground Ivy/Catmint)	UNROOTED CUTTINGS	100	0.168	\$16.80
97-63936-URCO		HELICHRYSUM ICICLES (Silver/Gray/Green Upright) (Patented)	UNROOTED CUTTINGS	100	0.176	\$17.60
97-53158-URCO		HELICHRYSUM PETIOLARE LIMELIGHT (Bright Yellow Foliage)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-62964-URCO		HELICHRYSUM PETIOLARE MINUS (Small Leaf)	UNROOTED CUTTINGS	100	0.170	\$17.00
97-33115-URCO	Т3	HELICHRYSUM PETIOLARE SILVER (Large Round Silver Leaf) (Patented)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-84950-URCO	T2	HELICHRYSUM PETIOLARE SILVERSTAR (Patented)	UNROOTED CUTTINGS	100	0.250	\$25.00
97-53160-URCO	Т3	HELICHRYSUM PETIOLARE VARIEGATUM (VARIEG. LICORICE)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-65520-URCO	Т3	HELIOTROPE BLUE (Fragrant Blue)	UNROOTED CUTTINGS	100	0.232	\$23.20
97-54845-URCO	Т3	HERB BASIL AFRICAN BLUE	UNROOTED CUTTINGS	100	0.150	\$15.00
97-58953-URCO	Т3	HERB BASIL GREEK COLUMNAR	UNROOTED CUTTINGS	100	0.150	\$15.00
97-58168-URCO	Т3	HERB CURRY HELICHRYSUM ITALICUM	UNROOTED CUTTINGS	100	0.176	\$17.60
97-30633-URCO		HERB LAVENDER LAVANDULA DENTATA FRENCH	UNROOTED CUTTINGS	100	0.185	\$18.50
97-80010-URCO	T3	HERB LAVENDER LAVANDULA PINNATA (Blue)	UNROOTED CUTTINGS	100	0.185	\$18.50
97-77264-URCO		HERB LAVENDER LAVANDULA STOECHAS RUFFLES BLUEBERRY (Patented)	UNROOTED CUTTINGS	100	0.313	\$31.30
97-40239-URCO	T3	HERB LAVENDER LAVANDULA X INTERMEDIA GOODWIN CREEK	UNROOTED CUTTINGS	100	0.185	\$18.50
	K T3	HERB LAVENDER LAVANDULA X INTERMEDIA GROSSO (Purple)	UNROOTED CUTTINGS	100	0.185	\$18.50
97-30889-URCO	T3	HERB LEMON BALM MELISSA OFFICINALIS	UNROOTED CUTTINGS	100	0.168	\$16.80
97-53517-URCO	T3	HERB MARJORAM GOLDEN TIP		100	0.155	\$15.50 \$15.50
97-7764-URCO 97-70821-URCO		HERB MARJORAM SWEET HERB MINT MENTHA GRACILIS GINGER		100	0.155 0.139	\$13.90
97-30639-URCO		HERB MINT MENTHA GRACIES GINGER HERB MINT MENTHA PIPERITA CHOCOLATE	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.139	\$13.90
97-30640-URCO		HERB MINT MENTHA PIPERITA CITCATA ORANGE	UNROOTED CUTTINGS	100	0.139	\$13.90
97-40163-URCO		HERB MINT MENTHA PIPERITA CITICATA OKANGE	UNROOTED CUTTINGS	100	0.139	\$13.90
97-30897-URCO	T3	HERB MINT MENTHA FIFEKITA FEFFEKMINT HERB MINT MENTHA REQUIENII CORSICAN	UNROOTED CUTTINGS	100	0.139	\$13.90
97-30643-URCO	T3	HERB MINT MENTHA REQUENT CONSIGNAL HERB MINT MENTHA SPICATA KENTUCKY COLONEL (Spearmint)	UNROOTED CUTTINGS	100	0.139	\$13.90
97-40508-URCO	T3	HERB MINT MENTHA SPICATA SPEARMINT	UNROOTED CUTTINGS	100	0.139	\$13.90
	-			-		

ltem#	Tag Rule Variety Annual Volume Pricing Available at 10,000+ cuttings	Tray Description	Tray Count	Price Each	Price Tray
97-30638-URCO	T3 HERB MINT MENTHA SUAVEOLENS APPLE	UNROOTED CUTTINGS	100	0.139	\$13.90
97-30642-URCO	T3 HERB MINT MENTHA SUAVEOLENS PINEAPPLE (VARIEGATED)	UNROOTED CUTTINGS	100	0.139	\$13.90
97-81785-URCO	T3 HERB MINT MENTHA SUAVEOLENS STRAWBERRY	UNROOTED CUTTINGS	100	0.139	\$13.90
97-82441-URCO	T3 HERB MINT MENTHA VILLOSA MOJITO (Mild Spearmint)	UNROOTED CUTTINGS	100	0.139	\$13.90
97-30902-URCO	T3 HERB OREGANO ORIGANUM VULGARE GOLDEN AUREA (Golden Yellow)	UNROOTED CUTTINGS	100	0.145	\$14.50
97-78672-URCO	T3 HERB OREGANO ORIGANUM VULGARE GREEK	UNROOTED CUTTINGS	100	0.145	\$14.50
97-65522-URCO	T3 HERB OREGANO ORIGANUM VULGARE HOT AND SPICY	UNROOTED CUTTINGS	100	0.145	\$14.50
97-73656-URCO	T3 HERB OREGANO ORIGANUM VULGARE ITALIAN	UNROOTED CUTTINGS	100	0.145	\$14.50
97-30649-URCO	T3 HERB ROSEMARY ROSMARINUS OFFICINALIS ARP	UNROOTED CUTTINGS	100	0.173	\$17.30
97-58179-URCO	T3 HERB ROSEMARY ROSMARINUS OFFICINALIS HILL HARDY	UNROOTED CUTTINGS	100	0.173	\$17.30
97-30651-URCO	T3 HERB ROSEMARY ROSMARINUS OFFICINALIS PROSTRATUS (Creeping)	UNROOTED CUTTINGS	100	0.173	\$17.30
97-66729-URCO	T3 HERB ROSEMARY ROSMARINUS OFFICINALIS TAURENTIUS (Upright)	UNROOTED CUTTINGS	100	0.173	\$17.30
97-54313-URCO 97-30656-URCO	T3 HERB ROSEMARY ROSMARINUS OFFICINALIS TUSCAN BLUE T3 HERB SAGE SALVIA ELEGANS (RUTILANS) PINEAPPLE (Bright Scarlet)		100	0.173	\$17.30 \$16.80
97-30654-URCO	T3 HERB SAGE SALVIA CEEGANS (KOTLANS) FINLAFFEE (Sight Scallet)	UNROOTED CUTTINGS	100	0.168	\$16.80
97-66600-URCO	T3 HERB SAGE SALVIA OFFICINALIS DERIGUARTEN	UNROOTED CUTTINGS	100	0.168	\$16.80
97-30908-URCO	T3 HERB SAGE SALVIA OFFICINALIS ICTERINA (Golden Variegated)	UNROOTED CUTTINGS	100	0.168	\$16.80
97-30657-URCO	T3 HERB SAGE SALVIA OFFICINALIS PURPUREA PURPLE	UNROOTED CUTTINGS	100	0.168	\$16.80
97-30658-URCO	T3 HERB SAGE SALVIA OFFICINALIS TRICOLOR	UNROOTED CUTTINGS	100	0.168	\$16.80
97-84238-URCO	T2 HERB SATUREJA INDIAN MINT (Patented)	UNROOTED CUTTINGS	100	0.270	\$27.00
97-56146-URCO	T3 HERB STEVIA REBAUDIANA STEVIA	UNROOTED CUTTINGS	100	0.173	\$17.30
97-30662-URCO	T3 HERB TARRAGON FRENCH ARTEMISIA DRACUNCULUS	UNROOTED CUTTINGS	100	0.160	\$16.00
97-30664-URCO	T3 HERB THYME CITRIODORUS GOLDEN LEMON VARIEGATED	UNROOTED CUTTINGS	100	0.108	\$10.80
97-70092-URCO	T3 HERB THYME CITRIODORUS LEMON (GREEN) (Green Upright)	UNROOTED CUTTINGS	100	0.108	\$10.80
97-65038-URCO	T3 HERB THYME VULGARIS ARGENTEUS SILVER (Variegated, Upright)	UNROOTED CUTTINGS	100	0.108	\$10.80
97-30955-URCO	T3 HERB THYME VULGARIS ENGLISH (Upright)	UNROOTED CUTTINGS	100	0.108	\$10.80
97-87293-URCO	T3 HERB THYME VULGARIS FRENCH (Upright)	UNROOTED CUTTINGS	100	0.108	\$10.80
97-65445-URCO	T3 IRESINE BLOODLEAF (Bright Red)	UNROOTED CUTTINGS	100	0.186	\$18.60
97-74091-URCO	T3 IRESINE VARIEGATED (HEART) (Cream/Green,Red Stems)	UNROOTED CUTTINGS	100	0.186	\$18.60
97-83342-URCO	T2 ISOTOMA (LAURENTIA) FIZZ N POP GLOWING VIOLET (Patented)	UNROOTED CUTTINGS	100	0.329	\$32.90
97-66691-URCO	T3 IVY (HEDERA) DUCKFOOT	UNROOTED CUTTINGS	100	0.126	\$12.60
97-78182-URCO 97-59703-URCO	T3 IVY (HEDERA) EVA (Green/White) T3 IVY (HEDERA) GLACIER	UNROOTED CUTTINGS	100	0.126	\$12.60 \$12.60
97-33642-URCO	T3 IVY (HEDERA) GOLD CHILD (GOLDEN)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100 100	0.126	\$12.60
97-68844-URCO	T3 IVY (HEDERA) GOLDEN INGOT	UNROOTED CUTTINGS	100	0.120	\$12.60
97-88363-URCO	T3 IVY (HEDERA) MODERN TIMES	UNROOTED CUTTINGS	100	0.126	\$12.60
97-53156-URCO	T3 IVY (HEDERA) NEEDLEPOINT	UNROOTED CUTTINGS	100	0.126	\$12.60
97-33648-URCO	T3 IVY (HEDERA) PATRICIA	UNROOTED CUTTINGS	100	0.126	\$12.60
97-33649-URCO	T3 IVY (HEDERA) RALF (Green)	UNROOTED CUTTINGS	100	0.126	\$12.60
97-62912-URCO	T3 IVY (HEDERA) TEARDROP	UNROOTED CUTTINGS	100	0.126	\$12.60
97-92010-URCO	T2 IVY (HEDERA) TROPICAL BLIZZARD	UNROOTED CUTTINGS	100	0.212	\$21.20
97-88364-URCO	T3 IVY (HEDERA) WHITE RIPPLE	UNROOTED CUTTINGS	100	0.126	\$12.60
97-64377-URCO	T3 IVY (HEDERA) YELLOW RIPPLE	UNROOTED CUTTINGS	100	0.126	\$12.60
97-71165-URCO	T3 IVY (SCENECIO) GERMAN GREEN	UNROOTED CUTTINGS	100	0.200	\$20.00
97-66453-URCO	T3 IVY (SCENECIO) GERMAN WAX LEAF GREEN	UNROOTED CUTTINGS	100	0.210	\$21.00
97-66454-URCO	T3 IVY (SCENECIO) GERMAN WAX LEAF VARIEGATED	UNROOTED CUTTINGS	100	0.210	\$21.00
97-30312-URCO	T3 LAMIASTRUM GALEOBDOLON HERMAN'S PRIDE (Yellow w/Silver Green Leaf)	UNROOTED CUTTINGS	100	0.146	\$14.60
97-75481-URCO	T3 LAMIASTRUM SILVER FROST (Silver w/Pink)	UNROOTED CUTTINGS	100	0.146	\$14.60
97-30757-URCO 97-30314-URCO	T3 LAMIUM MACULATUM AUREUM (YELLOW) T3 LAMIUM MACULATUM BEACON SILVER (Lavender Pink)		100	0.146	\$14.60 \$14.60
97-58595-URCO	T3 LAMIUM MACULATUM BEACON SILVER (Lavender Pilik)	UNROOTED CUTTINGS	100	0.146	\$14.60
97-31018-URCO	T3 LAMIUM MACULATUM OKCHID TKOST (Of child Pink)	UNROOTED CUTTINGS	100	0.140	\$14.60
97-54958-URCO	T3 LAMIUM MACULATUM RED NANCY	UNROOTED CUTTINGS	100	0.146	\$14.60
97-30315-URCO	T3 LAMIUM MACULATUM WHITE NANCY	UNROOTED CUTTINGS	100	0.146	\$14.60
97–65868-URCO	T3 LANTANA CAMARA CONFETTI (Hot Pink and Orange)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-53202-URCO	T3 LANTANA CAMARA DALLAS RED	UNROOTED CUTTINGS	100	0.188	\$18.80
97-76376-URCO	T3 LANTANA NEW GOLD	UNROOTED CUTTINGS	100	0.188	\$18.80
97-82896-URCO	T2 LOBELIA HOT TRAILING BAVARIA (Patented)	UNROOTED CUTTINGS	100	0.245	\$24.50
97-66497-URCO	T2 LOBELIA HOT TRAILING BRILLIANT BLUE (Patented)	UNROOTED CUTTINGS	100	0.245	\$24.50
97-86326-URCO	T2 LOBELIA HOT TRAILING PURPLE (Patented)	UNROOTED CUTTINGS	100	0.245	\$24.50
97-86149-URCO	T2 LOBELIA HOT TRAILING ROYAL BLUE (Patented)	UNROOTED CUTTINGS	100	0.245	\$24.50
97-68761-URCO	T2 LOBELIA HOT TRAILING SNOW WHITE (Patented)	UNROOTED CUTTINGS	100	0.245	\$24.50
97-68760-URCO	T2 LOBELIA HOT TRAILING WATER BLUE (Patented)	UNROOTED CUTTINGS	100	0.245	\$24.50
97-82357-URCO	T2 LOBULARIA (ALYSSUM) STREAM TRAILING LAVENDER (Patented)		100	0.328	\$32.80
97-85141-URCO	T2 LOBULARIA (ALYSSUM) STREAM TRAILING PURPLE (Patented)	UNROOTED CUTTINGS	100	0.328	\$32.80

Germania Seed Company

ltem#	Tag Rule	Variety Annual Volume Pricing Available at 10,000+ cuttings	Tray Description	Tray Count	Price Each	Price Tray
97-66280-URCO	T2		UNROOTED CUTTINGS	100	0.328	\$32.80
97-80427-URCO	T2	LOBULARIA (ALYSSUM) STREAM TRAILING SILVER (Patented)	UNROOTED CUTTINGS	100	0.320	\$32.00
97-82443-URCO	T2	LOBULARIA (ALYSSUM) STREAM TRAILING WHITE (Patented)	UNROOTED CUTTINGS	100	0.320	\$32.00
97-84966-URCO	T2	LOPHOSPERMUM LOFOS TRAILING COMPACT ROSE (Deep Rose) (Patented)	UNROOTED CUTTINGS	100	0.463	\$46.30
97-84854-URCO	T2	LOPHOSPERMUM LOFOS TRAILING COMPACT WHITE (Patented)	UNROOTED CUTTINGS	100	0.463	\$46.30
97-80667-URCO	T2	LOPHOSPERMUM LOFOS TRAILING WHITE (Patented)	UNROOTED CUTTINGS	100	0.463	\$46.30
97-68111-URCO	T2	LOPHOSPERMUM LOFOS TRAILING WINE RED (GREAT CASCADE) (Patented)	UNROOTED CUTTINGS	100	0.463	\$46.30
97-85804-URCO	Т3	LOTUS (LOTUS VINE) PARROTS BEAK (Red)	UNROOTED CUTTINGS	100	0.143	\$14.30
97-65329-URCO	Т3	LYSIMACHIA CONGESTIFLORA GREEN LEAF (CREEPING JENNY)	UNROOTED CUTTINGS	100	0.208	\$20.80
97-78190-URCO	Т3	LYSIMACHIA CONGESTIFLORA VARIEGATED (CREEPING JENNY) (Green w/Yellow)	UNROOTED CUTTINGS	100	0.208	\$20.80
97-58768-URCO	Т3	LYSIMACHIA NUMMULARIA GOLDI (CREEPING JENNY) (Chartreuse)	UNROOTED CUTTINGS	100	0.118	\$11.80
97-91283-URCO	T2	LYSIMACHIA SUNBURST (Dark Green w/Ylw/Red Flower) (Patented)	UNROOTED CUTTINGS	100	0.322	\$32.20
97-74622-URCO	T3	MANETTIA LUTEO CANDY CORN VINE (Orange/Yellow Bicolor)	UNROOTED CUTTINGS	100	0.250	\$25.00
97-40873-URCO	T3		UNROOTED CUTTINGS	100	0.170	\$17.00
97-79555-URCO	T3	MUEHLENBECKIA AXILLARIS WIRE VINE (SMALL LEAF)	UNROOTED CUTTINGS	100	0.170	\$17.00
97-40874-URCO	T2	NEMESIA ESCENTIAL BLACKBERRY (Blue Purple) (Patented)	UNROOTED CUTTINGS	100	0.222	\$22.20
97-40875-URCO	T2	NEMESIA ESCENTIAL BLUEBERRY CUSTARD (Purple and Yellow) (Patented)	UNROOTED CUTTINGS	100	0.222	\$22.20 \$22.20
97-40876-URCO	T2	NEMESIA ESCENTIAL BUMBLEBERRY (Blue and Rose) (Patented)	UNROOTED CUTTINGS	100	0.222	\$22.20
97-40877-URCO 97-40878-URCO	T2 T2	NEMESIA ESCENTIAL PINKBERRY (Pink and Light Pink) (Patented) NEMESIA ESCENTIAL RASPBERRY LEMONADE (Raspberry and Yellow) (Patented)	UNROOTED CUTTINGS	100	0.222 0.222	\$22.20
97-40879-URCO	T2	NEMESIA ESCENTIAL STRAWBERRY (Dark and Light Rose) (Patented)	UNROOTED CUTTINGS	100	0.222	\$22.20
97-40880-URCO	T2	NEMESIA ESCENTIAL SUGARBERRY (Purple and Hot Pink) (Patented)	UNROOTED CUTTINGS	100	0.222	\$22.20
97-94437-URCO *	T2	NEMESIA ESCENTIAL SOCIARDERAT (Fulple and Hot Fink) (Fulented)	UNROOTED CUTTINGS	100	0.222	\$17.90
97-86152-URCO	T2	NEMESIA NESIA SUNSHINE (Patented)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-85143-URCO	T2	NEMESIA NESIA TROPICAL (Patented)	UNROOTED CUTTINGS	100	0.179	\$17.90
97-58169-URCO	T3	OREGANO ORNAMENTAL ORIGANUM DICTAMNUS DITTANY OF CRETE	UNROOTED CUTTINGS	100	0.145	\$14.50
97-54874-URCO	T3	OREGANO ORNAMENTAL ORIGANUM ROTUNDIFOLIUM KENT BEAUTY	UNROOTED CUTTINGS	100	0.145	\$14.50
97-81124-URCO	T2	OSTEOSPERMUM ASTRA ORANGE SUNRISE (Patented)	UNROOTED CUTTINGS	100	0.302	\$30.20
97-82900-URCO	T2	OSTEOSPERMUM ASTRA PURPLE (Patented)	UNROOTED CUTTINGS	100	0.302	\$30.20
97-69193-URCO	T2	OSTEOSPERMUM ASTRA PURPLE SPOON (Patented)	UNROOTED CUTTINGS	100	0.302	\$30.20
97-92012-URCO	T2	OSTEOSPERMUM GELATO ALMOND	UNROOTED CUTTINGS	100	0.306	\$30.60
97-92013-URCO	T2	OSTEOSPERMUM GELATO CANDY	UNROOTED CUTTINGS	100	0.306	\$30.60
97-92014-URCO	T2	OSTEOSPERMUM GELATO CRANBERRY	UNROOTED CUTTINGS	100	0.306	\$30.60
97-92016-URCO	Т2	OSTEOSPERMUM GELATO PINEAPPLE	UNROOTED CUTTINGS	100	0.306	\$30.60
97-92017-URCO	T2	OSTEOSPERMUM GELATO PINK CUBERDON	UNROOTED CUTTINGS	100	0.306	\$30.60
97-92018-URCO	Т2	OSTEOSPERMUM GELATO PRUNE	UNROOTED CUTTINGS	100	0.306	\$30.60
97-71987-URCO	Т3	PERILLA TRICOLOR (Burgundy w/Magenta Center)	UNROOTED CUTTINGS	100	0.188	\$18.80
97-89968-URCO	T2	PETUNIA BIG DEAL CHOCOLATE CHERRIES (Patented)	UNROOTED CUTTINGS	100	0.298	\$29.80
97-94578-URCO *	T2	PETUNIA BIG DEAL FINGERPAINT (Patented)	UNROOTED CUTTINGS	100	0.298	\$29.80
97-91985-URCO	T2	, , , , , , , , , , , , , , , , , , ,	UNROOTED CUTTINGS	100	0.340	\$34.00
97-40883-URCO	T2	PETUNIA CRAZYTUNIA BERRY FRAPPE (Purple and White) (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-85151-URCO *		PETUNIA CRAZYTUNIA BITTER LEMON (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-94579-URCO *	T2	PETUNIA CRAZYTUNIA BLACK & WHITE (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-82665-URCO 97-66319-URCO	T2 T2	PETUNIA CRAZYTUNIA BLACK MAMBA (Patented) PETUNIA CRAZYTUNIA BLACKBERRY CHEESECAKE (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00 \$34.00
97-91809-URCO	T2	PETUNIA CRAZYTUNIA BLACKBERRY JAM (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-88294-URCO	T2	PETUNIA CRAZYTUNIA BLUE ICE (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-93275-URCO *	T2	PETUNIA CRAZYTUNIA CHERRY CHEESECAKE (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-91916-URCO	T2	PETUNIA CRAZYTUNIA COSMIC PINK (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-89969-URCO	T2	PETUNIA CRAZYTUNIA COSMIC PURPLE (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-93277-URCO *	T2	PETUNIA CRAZYTUNIA FIRECRACKER (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-88372-URCO	T2	PETUNIA CRAZYTUNIA FRENCH KISS (Purple/Ivory) (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-94580-URCO *	T2	PETUNIA CRAZYTUNIA FRISKY ORANGE (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-79820-URCO	T2	PETUNIA CRAZYTUNIA FRISKY PURPLE (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-91986-URCO	T2	PETUNIA CRAZYTUNIA FRISKY RED (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-92000-URCO	T2	PETUNIA CRAZYTUNIA FRISKY VIOLET (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-40885-URCO	T2	PETUNIA CRAZYTUNIA ICED BERRY (White w/Magenta Star/Vein) (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-86878-URCO	T2	PETUNIA CRAZYTUNIA KERMIT PURPLE (Patented)	UNROOTED CUTTINGS	100	0.298	\$29.80
97-85032-URCO	T2	PETUNIA CRAZYTUNIA KNIGHT RIDER (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-66320-URCO	T2	PETUNIA CRAZYTUNIA LUCKY LILAC (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-94581-URCO *	T2	PETUNIA CRAZYTUNIA MAGENTA STORM (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-94897-URCO *	T2	PETUNIA CRAZYTUNIA MAGENTERRIFIC (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-82666-URCO	T2	PETUNIA CRAZYTUNIA MANDEVILLE (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-73399-URCO	T2	PETUNIA CRAZYTUNIA MOONSTRUCK (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-94877-URCO *	T2	PETUNIA CRAZYTUNIA NIGHTWATCH (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00

ltem#	Tag Rule	Variety Annual Volume Pricing Available at 10,000+ cuttings	Tray Description	Tray Count	Price Each	Price Tray
97-71775-URCO		PETUNIA CRAZYTUNIA PASSION PUNCH (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-94898-URCO *	T2		UNROOTED CUTTINGS	100	0.340	\$34.00
97-91987-URCO	T2	PETUNIA CRAZYTUNIA PEACH BELLINI (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-94996-URCO *	T2	PETUNIA CRAZYTUNIA PINK FLAMINGO (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-82667-URCO	T2	PETUNIA CRAZYTUNIA PULSE (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-40889-URCO	T2	PETUNIA CRAZYTUNIA PURPLE STORM (White to Purple) (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-90429-URCO	T2	PETUNIA CRAZYTUNIA RASPBERRY LEMONADE (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-67719-URCO	T2	PETUNIA CRAZYTUNIA RAZZMATAZZ (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-82668-URCO	T2	PETUNIA CRAZYTUNIA RED BLUES (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-40890-URCO	Т2	PETUNIA CRAZYTUNIA ROSE GOLD (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-40891-URCO	T2	PETUNIA CRAZYTUNIA SPIDER GIRL (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-40892-URCO	T2	PETUNIA CRAZYTUNIA STAR FRUIT (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-93278-URCO *	T2	PETUNIA CRAZYTUNIA STAR JUBILEE (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-89973-URCO	T2	PETUNIA CRAZYTUNIA SUGAR BEET (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-85033-URCO *	Т2	PETUNIA CRAZYTUNIA TERRACOTTA (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-40893-URCO	T2	PETUNIA CRAZYTUNIA TIKI TORCH (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-88296-URCO	T2	PETUNIA CRAZYTUNIA ULTRA VIOLET (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-94582-URCO *	Т2	PETUNIA HELLS EMBER RED (Patented)	UNROOTED CUTTINGS	100	0.298	\$29.80
97-80691-URCO	T2	PETUNIA HELLS FLAMIN ROSE (Patented)	UNROOTED CUTTINGS	100	0.298	\$29.80
97-94583-URCO *	T2	PETUNIA HELLS FORGE (Patented)	UNROOTED CUTTINGS	100	0.298	\$29.80
97-94584-URCO *	Т2	PETUNIA HELLS FRUIT PUNCH (Patented)	UNROOTED CUTTINGS	100	0.298	\$29.80
97-94585-URCO *	T2	PETUNIA HELLS GLOW (Patented)	UNROOTED CUTTINGS	100	0.298	\$29.80
97-94586-URCO *	Т2	PETUNIA HELLS HEAT (Patented)	UNROOTED CUTTINGS	100	0.298	\$29.80
97-84873-URCO	Т2	PETUNIA MOONLIGHT ECLIPSE (Blue w/Green Edge) (Patented)	UNROOTED CUTTINGS	100	0.378	\$37.80
97-94587-URCO *	T2	PETUNIA PERFECTUNIA MANDARIN (Patented)	UNROOTED CUTTINGS	100	0.298	\$29.80
97-82623-URCO	Т2	PETUNIA RAY BLACK (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-82624-URCO	Т2	PETUNIA RAY SUNFLOWER (Black/Yellow) (Patented)	UNROOTED CUTTINGS	100	0.340	\$34.00
97-85037-URCO	T2	PETUNIA RAY SUNSHINE (Yellow) (Patented)	UNROOTED CUTTINGS	100	0.312	\$31.20
97-92133-URCO	Т2	PETUNIA RETRO RED (Patented)	UNROOTED CUTTINGS	100	0.298	\$29.80
97-59595-URCO *	Т2	PETUNIA SURFINIA BLUE VEINED (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-81168-URCO	T2	PETUNIA SURFINIA DEEP RED (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-71182-URCO *	T2	PETUNIA SURFINIA GIANT BLUE (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-59598-URCO *	T2	PETUNIA SURFINIA GIANT PURPLE (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-87266-URCO	T2	PETUNIA SURFINIA HEART BEAT (Heart Pattern) (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-84875-URCO	T2	PETUNIA SURFINIA HEAVENLY BLUE (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-94588-URCO *		PETUNIA SURFINIA HEAVENLY CABERNET (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-68564-URCO *	T2		UNROOTED CUTTINGS	100	0.393	\$39.30
97-91827-URCO		PETUNIA SURFINIA PURPLE HEART (White w/ Purple Hearts) (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-40895-URCO	T2	PETUNIA SURFINIA PURPLE STARSHINE (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-59603-URCO *		PETUNIA SURFINIA ROSE VEINED (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-59604-URCO *		PETUNIA SURFINIA SKY BLUE (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-83024-URCO		PETUNIA SURFINIA SUMMER DOUBLE PINK (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-83025-URCO		PETUNIA SURFINIA SUMMER DOUBLE ROSE (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-70291-URCO		PETUNIA SURFINIA SUMMER DOUBLE SALMON (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-83026-URCO		PETUNIA SURFINIA SUMMER DOUBLE WHITE (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-86306-URCO	T2		UNROOTED CUTTINGS	100	0.393	\$39.30
97-87267-URCO		PETUNIA SURFINIA SUMO GLACIAL PINK (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-86307-URCO	T2		UNROOTED CUTTINGS	100	0.393	\$39.30
97-86308-URCO		PETUNIA SURFINIA SUMO PLUM (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-89657-URCO		PETUNIA SURFINIA TRAILING RED (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-59606-URCO *		PETUNIA SURFINIA WHITE (Patented) PETUNIA SURFINIA XXL TAFFY PINK (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-94591-URCO *	T2	PETUNIA SURFINIA XXL TAFFY PINK (Patentea) PETUNIA ZOOM PURPLE (Patented)	UNROOTED CUTTINGS	100	0.393	\$39.30
97-91989-URCO			UNROOTED CUTTINGS	100	0.312	\$31.20
97-59846-URCO	T3	PLECTRANTHUS AUSTRALIS GREEN (SWEDISH IVY) PLECTRANTHUS AUSTRALIS PURPLE (SWEDISH IVY)	UNROOTED CUTTINGS	100	0.158	\$15.80 \$15.80
97-59848-URCO		· · ·	UNROOTED CUTTINGS	100	0.158	
97-69198-URCO 97-71142-URCO	T3 T3	PLECTRANTHUS CILIATUS LEMON TWIST (CANDLESTICK) (Gold/Green Leaves) PLECTRANTHUS CILIATUS VARIEGATED (CANDLESTICK)		100	0.222	\$22.20 \$22.20
97-71142-0RCO 97-71143-URCO		PLECTRANTHUS CILIATUS VARIEGATED (CANDLESTICK) PLECTRANTHUS COLEOIDES VARIEGATED (CANDLEVINE)		100	0.222	\$22.20
		PLECTRANTHUS COLEOIDES VARIEGATED (CANDLE VINE) PLECTRANTHUS HYBRID VELVET ELVIS (Patented)		100		\$50.00
97-82380-URCO	T1	· · · · ·		100	0.500	
97-61361-URCO	T3	PLUMBAGO AURICULATA DARK BLUE (Mid-Blue)	UNROOTED CUTTINGS	100	0.173	\$17.30
97-72738-URCO	T3	PORTULACA GRANDIFLORA SAMBA BICOLOR (Pink/White)		100	0.195	\$19.50
97-72739-URCO	T3	PORTULACA GRANDIFLORA SAMBA HOT PINK		100	0.195	\$19.50
97-89974-URCO	T2		UNROOTED CUTTINGS	100	0.330	\$33.00
97-94590-URCO *		PORTULACA OLERACEA COLORBLAST DOUBLE DRAGONFRUIT (Patented)		100	0.330	\$33.00
97-89975-URCO	12	PORTULACA OLERACEA COLORBLAST DOUBLE GUAVA (Pink and Yellow) (Patented)	UNROOTED CUTTINGS	100	0.330	\$33.00

Germania Seed Company

ltem#	Tag Rule	Variety Annual Volume Pricing Available at 10,000+ cuttings	Tray Description	Tray Count	Price Each	Price Tray
97-84225-URCO	T2	PORTULACA OLERACEA COLORBLAST DOUBLE MAGENTA (Patented)	UNROOTED CUTTINGS	100	0.330	\$33.00
97-84180-URCO	T2	PORTULACA OLERACEA COLORBLAST DOUBLE ORANGE (MANDARIN) (Patented)	UNROOTED CUTTINGS	100	0.330	\$33.00
97-40896-URCO	T2	PORTULACA OLERACEA COLORBLAST DOUBLE PINK (Pale Pink) (Patented)	UNROOTED CUTTINGS	100	0.330	\$33.00
97-84181-URCO	T2	PORTULACA OLERACEA COLORBLAST DOUBLE SCARLET (Patented)	UNROOTED CUTTINGS	100	0.330	\$33.00
97-84187-URCO	T2	PORTULACA OLERACEA COLORBLAST DOUBLE YELLOW (Patented)	UNROOTED CUTTINGS	100	0.330	\$33.00
97-84189-URCO	T2	PORTULACA OLERACEA COLORBLAST GRENADINE (Patented)	UNROOTED CUTTINGS	100	0.288	\$28.80
97-72358-URCO	T2	PORTULACA OLERACEA COLORBLAST LEMON TWIST (Bicolor Yellow/White) (Patented)	UNROOTED CUTTINGS	100	0.330	\$33.00
97-84201-URCO	T2	PORTULACA OLERACEA COLORBLAST LIMON (Solid Yellow) (Patented)	UNROOTED CUTTINGS	100	0.288	\$28.80
97-72359-URCO	T2	PORTULACA OLERACEA COLORBLAST MANGO MOJITO (Bicolor Orange/Yllw) (Patented)	UNROOTED CUTTINGS	100	0.330	\$33.00
97-89976-URCO	T2	PORTULACA OLERACEA COLORBLAST PINK LADY (Patented)	UNROOTED CUTTINGS	100	0.330	\$33.00
97-84216-URCO	T2	PORTULACA OLERACEA COLORBLAST PLUMBERRY (Patented)	UNROOTED CUTTINGS	100	0.288	\$28.80
97-89977-URCO	T2	PORTULACA OLERACEA COLORBLAST RUM PUNCH (Patented)	UNROOTED CUTTINGS	100	0.330	\$33.00
97-84217-URCO	T2	PORTULACA OLERACEA COLORBLAST TANGERINE (Patented)	UNROOTED CUTTINGS	100	0.288	\$28.80
97-72360-URCO	T2	PORTULACA OLERACEA COLORBLAST WATERMELON PUNCH (Patented)	UNROOTED CUTTINGS	100	0.330	\$33.00
97-82381-URCO	T2	PORTULACA OLERACEA PAZZAZ DEEP PINK (Patented)	UNROOTED CUTTINGS	100	0.279	\$27.90
97-82382-URCO	T2	PORTULACA OLERACEA PAZZAZ FUCHSIA (Patented)	UNROOTED CUTTINGS	100	0.279	\$27.90
97-77744-URCO	T2	PORTULACA OLERACEA PAZZAZ RED FLARE (Patented)	UNROOTED CUTTINGS	100	0.279	\$27.90
97-78280-URCO	T2	PORTULACA OLERACEA PAZZAZ TANGERINE (Patented)	UNROOTED CUTTINGS	100	0.279	\$27.90
97-75497-URCO	T2	PORTULACA OLERACEA PAZZAZ VIVID YELLOW (Patented)	UNROOTED CUTTINGS	100	0.279	\$27.90
97-73918-URCO	T3	RHOEO DISICOLOR COMPACTA TRICOLOR	UNROOTED CUTTINGS	100	0.325	\$32.50
97-58081-URCO	T3	RUELLIA BRITTONIANA PURPLE SHOWERS (Mexican Petunia)	UNROOTED CUTTINGS	100	0.189	\$18.90
97-74499-URCO	T2	SALVIA FARINACEA SALLYFUN BLUE EMOTION (Patented)	UNROOTED CUTTINGS	100	0.189	\$35.00
97-86805-URCO		SALVIA FARINACEA SALLYFUN DEEP OCEAN (Patented)	UNROOTED CUTTINGS	100	0.350	\$35.00
97-64353-URCO	T3	SALVIA GUARANITICA BLACK AND BLUE		100	0.215	\$21.50
97-88303-URCO	T2	SALVIA GUARANITICA BLACK AND BLOE SALVIA GUARANITICA BODACIOUS RHYTHM AND BLUES (Patented)	UNROOTED CUTTINGS		0.213	\$44.30
	T2	SALVIA GUARANITICA BODACIOUS KHITIHII AND BLUES (Patented)	UNROOTED CUTTINGS	100	0.443	\$44.30
97-94592-URCO *			UNROOTED CUTTINGS	100		
97-94593-URCO *	T2		UNROOTED CUTTINGS	100	0.350	\$35.00
97-67926-URCO		SCAEVOLA SCALORA BRILLIANT (Dark Blue) (Patented)	UNROOTED CUTTINGS	100	0.300	\$30.00
97-67927-URCO	T2	SCAEVOLA SCALORA DIAMOND (White w/Lilac Edge) (Patented)	UNROOTED CUTTINGS	100	0.300	\$30.00
97-78042-URCO		SCAEVOLA SCALORA FANCY BLUE (SAPHIRA) (Patented)	UNROOTED CUTTINGS	100	0.300	\$30.00
97-72362-URCO	T2	SCAEVOLA SCALORA PEARL (Patented)	UNROOTED CUTTINGS	100	0.300	\$30.00
97-81091-URCO	T2	SCAEVOLA SCALORA SUNTASTIC (Yellow) (Patented)	UNROOTED CUTTINGS	100	0.358	\$35.80
97-74504-URCO	T2	SCAEVOLA SCALORA TOPAZ PINK (Patented)	UNROOTED CUTTINGS	100	0.300	\$30.00
97-78134-URCO		SCAEVOLA SURDIVA BLUE VIOLET (Patented)	UNROOTED CUTTINGS	100	0.380	\$38.00
97-60774-URCO		SCAEVOLA SURDIVA CLASSIC BLUE (Patented)	UNROOTED CUTTINGS	100	0.380	\$38.00
97-74306-URCO	T2		UNROOTED CUTTINGS	100	0.380	\$38.00
97-91837-URCO	T2		UNROOTED CUTTINGS	100	0.380	\$38.00
97-72540-URCO		SCAEVOLA SURDIVA WHITE (Patented)	UNROOTED CUTTINGS	100	0.380	\$38.00
97-76349-URCO	Т3	SETCREASEA PALLIDA PURPLE	UNROOTED CUTTINGS	100	0.255	\$25.50
97-74125-URCO	Т3	SETCREASEA PALLIDA PURPLE VARIEGATED	UNROOTED CUTTINGS	100	0.262	\$26.20
97-58807-URCO	Т3	SHRIMP PACHYSTACHYS LUTEA GOLDEN SHRIMP (Golden)	UNROOTED CUTTINGS	100	0.248	\$24.80
97-71125-URCO	Т3	STREPTOCARPELLA CONCORD BLUE (Trailing)	UNROOTED CUTTINGS	100	0.208	\$20.80
97-57926-URCO	Т3	STROBILANTHES DYERIANUS PERSIAN SHIELD	UNROOTED CUTTINGS	100	0.229	\$22.90
97-65345-URCO	Т3	THUNBERGIA LEMON	UNROOTED CUTTINGS	100	0.233	\$23.30
97-62731-URCO *	T2	THUNBERGIA SUNNY SUSY BROWNIE (WAS ARIZONA) (Red) (Patented)	UNROOTED CUTTINGS	100	0.353	\$35.30
97-94594-URCO *	T2	THUNBERGIA SUNNY SUSY CHERRY (Patented)	UNROOTED CUTTINGS	100	0.353	\$35.30
97-85462-URCO *	T2	THUNBERGIA SUNNY SUSY GLOW (WAS ARIZONA) (Orange/Red) (Patented)	UNROOTED CUTTINGS	100	0.353	\$35.30
97-88769-URCO *	T2	THUNBERGIA SUNNY SUSY PINK BEAUTY (WAS ARIZONA) (Patented)	UNROOTED CUTTINGS	100	0.353	\$35.30
97-78282-URCO	T2	THUNBERGIA SUNNY SUSY RED ORANGE (Patented)	UNROOTED CUTTINGS	100	0.353	\$35.30
97-94595-URCO *	T2	THUNBERGIA SUNNY SUSY TERRA COTTA (Patented)	UNROOTED CUTTINGS	100	0.353	\$35.30
97-78645-URCO *	T2	THUNBERGIA SUNNY SUSY YELLOW W/DARK EYE (Patented)	UNROOTED CUTTINGS	100	0.353	\$35.30
97-40897-URCO	T2	THUNBERGIA TOWERPOWER APRICOT (Patented)	UNROOTED CUTTINGS	100	0.325	\$32.50
97-92020-URCO	T2	THUNBERGIA TOWERPOWER GOLD (Patented)	UNROOTED CUTTINGS	100	0.325	\$32.50
97-40898-URCO	T2	THUNBERGIA TOWERPOWER ORANGE (Patented)	UNROOTED CUTTINGS	100	0.325	\$32.50
97-40899-URCO	T2	THUNBERGIA TOWERPOWER RED (Patented)	UNROOTED CUTTINGS	100	0.325	\$32.50
97-40900-URCO	T2	THUNBERGIA TOWERPOWER WHITE (Patented)	UNROOTED CUTTINGS	100	0.325	\$32.50
97-40901-URCO	T2	THUNBERGIA TOWERPOWER YELLOW (Patented)	UNROOTED CUTTINGS	100	0.325	\$32.50
97-60777-URCO	T2	TORENIA MOON SEMI TRAILING BLUE (Patented)	UNROOTED CUTTINGS	100	0.279	\$27.90
97–72022-URCO	T2	TORENIA MOON SEMI TRAILING MAGENTA (Patented)	UNROOTED CUTTINGS	100	0.279	\$27.90
97-63941-URCO	T2	TORENIA MOON SEMI TRAILING PURPLE (Patented)	UNROOTED CUTTINGS	100	0.279	\$27.90
97-68122-URCO	T2	TORENIA MOON SEMI TRAILING WHITE (Patented)	UNROOTED CUTTINGS	100	0.279	\$27.90
97-60780-URCO	T2	TORENIA MOON SEMI TRAILING WITTE (Patented)	UNROOTED CUTTINGS	100	0.279	\$28.60
97–78508-URCO 97–78509-URCO	T2 T2	TORENIA SUMMER WAVE BOUQUET DEEP BLUE (Patented) TORENIA SUMMER WAVE BOUQUET DEEP ROSE (Patented)	UNROOTED CUTTINGS	100	0.388	\$38.80
	T2	• • •		100	0.388	\$38.80
97-78510-URCO	12	TORENIA SUMMER WAVE BOUQUET GOLD (Patented)	UNROOTED CUTTINGS	100	0.388	\$38.80

ltem#	Tag Rule	Variety Annual Volume Pricing Available at 10,000+ cuttings	Tray Description	Tray Count	Price Each	Price Tray
97-82101-URCO	T2	TORENIA SUMMER WAVE BOUQUET WHITE (Patented)	UNROOTED CUTTINGS	100	0.388	\$38.80
97-65888-URCO	T2	TORENIA SUMMER WAVE TRAILING LARGE AMETHYST (Patented)	UNROOTED CUTTINGS	100	0.388	\$38.80
97-71184-URCO	T2	TORENIA SUMMER WAVE TRAILING LARGE BLUE (Patented)	UNROOTED CUTTINGS	100	0.388	\$38.80
97-64084-URCO	T2	TORENIA SUMMER WAVE TRAILING LARGE VIOLET (Patented)	UNROOTED CUTTINGS	100	0.388	\$38.80
97-70063-URCO	Т3	TRADESCANTIA WANDERING JEW PURPLE (Purple/Green Bicolor)	UNROOTED CUTTINGS	100	0.193	\$19.30
97-78193-URCO	Т3	TRADESCANTIA WANDERING JEW RED-SILVER (Red/Green/Silver)	UNROOTED CUTTINGS	100	0.193	\$19.30
97-94596-URCO *	Т2	VERBENA ESTRELLA DARK ORANGE (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-80312-URCO	T2	VERBENA ESTRELLA DARK PURPLE (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-40902-URCO	T2	VERBENA ESTRELLA HOT PINK (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-92003-URCO	T2	VERBENA ESTRELLA IMPERIAL BLUE (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-40903-URCO	T2	VERBENA ESTRELLA LOBSTERFEST (Red) (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-75408-URCO	T2	VERBENA ESTRELLA MERLOT (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-75409-URCO	T2	VERBENA ESTRELLA PEACH (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-86910-URCO	T2	VERBENA ESTRELLA RED (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-75412-URCO	T2	VERBENA ESTRELLA WHITE (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-67688-URCO	T2	VERBENA HURRICANE BLUE (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-92021-URCO	T2	VERBENA HURRICANE FUCHSIA (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-55729-URCO	T2	VERBENA HURRICANE PINK (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-88378-URCO	T2	VERBENA HURRICANE VIOLET RED (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-78194-URCO	T2	VERBENA VOODOO RED STAR (Red/White) (Patented)	UNROOTED CUTTINGS	100	0.255	\$25.50
97-92442-URCO *	T2	VINCA (CATHARANTHUS) SOIREE KAWAII BLUEBERRY KISS (Patented)	UNROOTED CUTTINGS	100	0.360	\$36.00
97-88469-URCO *	Т2	VINCA (CATHARANTHUS) SOIREE KAWAII CORAL (Patented)	UNROOTED CUTTINGS	100	0.360	\$36.00
97-92815-URCO *	T2	VINCA (CATHARANTHUS) SOIREE KAWAII CORAL REEF (Patented)	UNROOTED CUTTINGS	100	0.360	\$36.00
97-90936-URCO *	Т2	VINCA (CATHARANTHUS) SOIREE KAWAII RED SHADES (Patented)	UNROOTED CUTTINGS	100	0.360	\$36.00
97-91004-URCO *	T2	VINCA (CATHARANTHUS) SOIREE KAWAII WHITE PEPPERMINT (Patented)	UNROOTED CUTTINGS	100	0.360	\$36.00
97-55028-URCO	Т3	VINCA VINE MAJOR EXPOFLORA (Green w/Cream Variegated)	UNROOTED CUTTINGS	100	0.106	\$10.60
97-56863-URCO	Т3	VINCA VINE MAJOR MACULATA (Green w/Gold)	UNROOTED CUTTINGS	100	0.106	\$10.60
97-40904-URCO	Т3	VINCA VINE MAJOR ROB'S GEM (Cream w/Green Edge)	UNROOTED CUTTINGS	100	0.125	\$12.50
97-33186-URCO	Т3	VINCA VINE MAJOR VARIEGATED (Deep Green w/White Margin)	UNROOTED CUTTINGS	100	0.099	\$9.90
97-54904-URCO	Т3	VINCA VINE MINOR BOWLES (Blue)	UNROOTED CUTTINGS	100	0.106	\$10.60

Shipping Season	July 26, 2021 - May 16, 2022
Order Minimum	Minimum order is 2,000 cuttings. Orders under 2,000 cuttings are welcome, please note they will be subject to a below minimum order fee of \$50 fo orders between 1,500 and 1,900 cuttings and a \$75 fee for order between 500 and 1,400 cuttings.
Packing	100 cuttings per variety; Quantities per box vary by variety.
Lead Time	Varies by variety.
FOB	FedEx Priority
Ship Methods	Delivered. (Shipping from Cuernavaca, Mexico)
Freight Charges	Freight charges are included in the price of the plant. Alaska and Hawaii orders will be charged an additional \$15 per box for freight.
Boxing & Other Charges	Boxing charges are included in the price of the plant.
Patent & Royalty	Included in the price of the plants. Patented varieties are marked next to each item and propagation of these varieties is prohibited.
Tags	Tags are included for all Terra Nova Coleus and Plectranthus Velvet Elvis varieties and are included in the cost of these plants. Tags are available for all additional items at the cost of 5.5¢ per tag.
Tag Rules	T1 = Tags required and included for patented item T3 = Tags available upon request
Discounts	A 5% Early Order Discount is available on all orders placed 12 weeks before the ship date. Volume pricing begins at 10,000 cuttings and is based on the total number of cuttings purchased for the entire season.
Claims	Must be reported to Germania Seed Company and be accompanied by photos within 5 of receiving plants. Claims placed after 5 days of arrival may be denied by the vendor. Exact losses must be reported within 3 business days. Please take clear photos of any damage to the box and/or plants and include the tray label whenever possible. Approved quality or damage claims without photos will be credited at 50%.
Cancellations	All changes and cancellations must be submitted 2 weeks prior to the ship date.